



# OUR MISSION

At the Gulf Bureau of Accreditation for Higher Education, our mission is clear: to define, uphold, and enhance premier educational criteria for working adults on a global scale. We endeavor to act as a conduit for knowledge, training, and networking among secondary and higher education establishments.







# INTRODUCTION

GBAHE, an academic accreditation council, evaluates online universities and higher education credentials from beyond the UAE. Our credit equivalency services facilitate credit transfers from internationally or regionally accredited online institutions, easing transitions between educational levels.

## Credit Equivalency Fee Structure

### Associate Degree Program(s) Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Associate of Arts Degree	10	60	35	\$2,100	7,699	7,875	628	794	7656
Associate Degree (any professional school)	13	78	35	\$2,730	10,018	10,228	816	1,033	9,947
Associate Degree (with specialization)	16	96	35	\$3,360	12,322	12,600	1,008	1,275	12,240

### Bachelor's Degree Program Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Associate to Bachelor's Degree	14	84	35	\$2,940	10,790	11,025	882	1,115	10,713
Bachelor's Degree	24	144	45	\$6,480	23,754	24,300	1,944	2,460	23,640

#### Master's Degree Program Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Master's Degree	10	60	95	\$5,700	20,946	21,375	1,710	2,159	20,739

<sup>\*</sup> Prevailing Dollar Value will be charged

## Credit Equivalency Fee Structure

#### Doctorate Degree Programs Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Doctorate Degree (Research)	3 Research 6 Thesis	54	125	\$6,950	25,504	26,062	2,085	2,641	25,256
Doctorate Degree (Applied)	3 Research 6 Thesis	54	125	\$6,950	25,504	26,062	2,085	2,641	25,256

#### Diploma Programs Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Undergraduate Diploma	6	36	35	\$1,460	5,356	5,475	438	554	5,325
Graduate Diploma	5	30	35	\$1,250	4,587	4,687	375	474	4556

#### Certificate Programs Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Undergraduate Course Certificate	1	6	35	\$410	1504	1535	123	156	1498
Undergraduate Certificate	3	18	35	\$830	3045	3105	248	313	3010
Graduate Course Certificate	1	6	35	\$410	1504	1535	123	156	1498
Graduate Certificate	2	12	35	\$620	2276	2325	186	235	2259

Gulf Bureau of Accreditation for Higher Education



Contact Us

www.gbahe.me